UW status — April 2013

* NSF-ATI proposal not funded
* Interferometer simulations — Le Zhang

* 3-element interferometer array

— 2.6 m dishes on roof

— CASPER/Roach?2 boards on loan from lIT-Indore
(Siddharth Malu’s lab)

— Copy/borrow 4-square feeds from NAOC?
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650 MHz

Farfield Gain Abs (Phi=0)
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farfield (f=650) [1]
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Frequency = 650
Main lobe magnitude = -0.0 dB

5 Main lobe direction = 0.0 deg.
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farfield (f=650) [1]

Frequency = 650

Main lobe magnitude = -0.0 dB
Main lobe direction = 0.0 deg.
Angular width (3 dB) = 85.1 deg.
Side lobe level = -17.8 dB




800 MHz

Farfield Gain Abs (Phi=0)
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farfield (f=800) [1]

Frequency = 800

Main lobe magnitude = 0.0 dB
Main lobe direction = 0.0 deg.
Angular width (3 dB) = 73.9 deg.
Side lobe level = -24.1 dB

farfield (f=800) [1]

Frequency = 800

Main lobe magnitude = 0.0 dB
Main lobe direction = 0.0 deg.
Angular width (3 dB) = 75.2 deg.
Side lobe level = -24.1 dB



1150 MHz

E-Plane Farfield Gain Abs (Phi=0)

farfield (f=1150) [1]

Frequency = 1150

Main lobe magnitude = 0.0 dB
Main lobe direction = 0.0 deg.
Angular width (3 dB) = 58.4 deg.
Side lobe level = -30.8 dB
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farfield (f=1150) [1]

Frequency = 1150

Main lobe magnitude = 0.0 dB
Main lobe direction = 0.0 deg.
180 Angular width (3 dB) = 55.4 deg.
Side lobe level = -30.8 dB
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